2019F 7 B 15 BRT

HERE1&5

B 74 — 3131

MUFERZAKR UL T (682189

Hadk ITEEERMBEGR (BARR 242)

IR (oL
RITE MLEE# ORHILES) O Pl T
[ PSR IR
AT TOIGE SR B O L7 | Ol T, DU, Fei> LR, W=7 7480.000 1
X8| R A BRR | BRI L5 Y, R, SRR, oe 000 kD
ROBRE MR RGRE | miARBEH ., 0 A ST 997
h9E% 2 e OW7 17 ¢ —-T—, oA T8, BIFAIRR, e LM, | 3866400 ]
SPIRHIISHAIRE SR | I L2 ., WL, WEAMATHT | (5475600 F)
SO |POPE D, WRIFER, WELEN, I8 TEW, | 0072000
R A T |OPERIEL WIED TRE, AT (9244800 1)
PERBIR A DI | AIRRRL, OB, (SR, AR, oo,
BEAMINTH (1 TK)  Wisis s, kA TE, eledare | i s0)
——— PR, (AT WSUERM. BN R TBE. | 2754000 1
WL HEL INKEURRE F A 2 i < 2 = 21 e R ’ ’
N TR 1 70| PR, (REAESE, (TG A, i T (2926300 )
O ORIFHER, U AHHIEER, PIUERM, KL AR TB. | 1,944,000 F
1B/ R P AN g B 2 D 21 = e ' ’
B X /K & ok B T ER( IIIZ.) @ﬁﬁ%g%&(ﬁﬁfg%%h () AR AR EP'“%I%(HE)\ I(_?:?é?liggg Ej
TS R 2 6 4 ORI, FlGER WS, BT, wiha| Soc2000
Al T BRLLIPFAER FRRCHE ST, (b T3 oo ae0

K =YHEKINAHTHLE T, 5HETEEN 10 HIHLIETH A LMD, HERIZ 10% TOEKNEEDET,

SiEE TERTFEBUDTE (TA1BRM)  maes Wemmimsg @asg 24
OZEMA BI—ETHER EME AR A ST TR, HIR—4l, ZT-% EHUHEEFRTED)

OMETERE F1V L =4~6. S2MPEl=7~0. H3rEl= 10 ~ 12 5. H4rEs=1~35
T 3 28 2% AR AR AR
Bz B2 | @R L %3 ) | BRI B = s | FErm| B
e et | g | EERTIHEA | — 2300 | | e | ACE2IERET  RLEFE | E3
mtj%ll% oy 1 E %;EEEQ:E% /J[p% @gﬁ @Eﬁﬁﬂ:ﬁ A= 10695rﬁ %%Eﬁ% IT_EI\/ 57'JHFEﬁ
e T e 2t o | BEEREIE L= 430m W=3m | moen | B2
B 2| spegmprenier g | WX SO0 00 ke T A= 1,300 | RO | gy | 3208
. o " EENETHE L=100m W=4m
UL R B R (2 :
6l = N e VEIm T 300 %300 L=80m |uppy | 2
@ 6 § g&gjt:{ﬂgl?’%éd -%Eaﬁ’% /er% i* }(-Lj\(ﬁﬁ]: L=40m 4&%%&1 L=32m %%ﬁﬁ'% P_tlilf,E;EJ SﬁHFEﬁ
L FkEIL 128
wamsmgene| | on Wosn T
TR N NG 2 JVIN— s s = m i
E_IS E gilg—jﬁgﬁﬁﬁﬁ%%ﬁnl 95%’[ ij‘ %E}L:T‘:—'7D‘77:|: A: 401’1’i %%ﬁ'ﬂ% Pl:liiﬁ,ﬁﬂ 473 H
H—RL—)L3HHE: 10
#-10] L | WENREBNERERRE | | | 7oiimE L A= 520n | B2 | oo
@ | | HKEKRRETE (2TRK) | il FIZKERT. 400 % 260 L=60m | FF| psp :
=1 | % g%ﬁ%ggﬁgﬁﬂ% w5 | 4 | c—4m A= 317m e | 22, | 3nAm
| e | FFERNGEBERKE | A | K8 | EKEHI-VPRREV/O50 44 L=3724m s 2
K3 B e g (A TK) | O | i | [EECEPPO 50 L= 4826m | T | gy | 811
sl R FAGEREERKEE | 4 | K08 | BOKEEGXO 100 L=116.6m e | 2
AGHR K4 | | s T Gy 1) | | i | IaAERPOXO SOST L=1223m | RN | gy | 87
R NI o - e | 2
Ketz| g |BEERIEIICHE o | R | ek e D | o | 6L




